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1  E��� B�2 8��#� �, 12�� A������ +���� F�� ������� 	� �>2�� ;�� 	��� E�$� ?��

�� ������� +"��� ���0�� C�� 7��.  

2  ������� "
���� �$���#� �A
���� ����� F��:  
Bn:   +"��� ���0�� C��(Hz)  
B:   A�%/��� A���(Bd)  
N:  � H�,� ���0��� �� �%�� ��"��3���� -��'�" ���
#�� " 7%�4�� 	� ���0�J�� 	� �*��#�� ;�� 	���)�$�����(  
M:   A�%/�$� ���� H�,�(Hz) 

C:   ����4�� �$��
�� ��
��� ����(Hz)  
D:  	0K� ����$� ��0���
 F
���� �������� ��� ��4�� ��0 1� �?
�2�� ���
0� . 	0K� ������
(Hz) A��
 
> 

, �
��� ��L� ���# ��#(rad) H$� 2p 

t:   �3�0�� ?��(s)M�#��� ��0 �0�   
tr:   �� �3�0�� ��/0� ��"%10 H�� %90 M�#��� �� (s)  
K:  ?��/N� 8� O
�#��� P
/��� H$� �,
��
 E��� ;#
 ��L�� +�� 	�,� A���  
Nc:  �� A���#� 	��� ��
������ ��Q0R� 	� 	#�#R� ���0�� 	� ��
0��� �����
0��� ����� A�#�9� ��  
fp:   �$����� ����4�� �$��
�� ��
��� ����(Hz) �������#�� ) ���� ��Q0� ���� �� ��
�$� �$���#� ?���#� ?��/�

������ +�#��� A�#�9�.(  
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1 .���3� �4 0��5� ����6�� 7�8�� 0��9
  
 0�%9 :0���&� ��#��� )���


;���  
Bn = BK 

K = 5 0�/<���� ������� $#4 7� 
��=���  

K = 3 ��2 ������� $#4 7� 
��=��� 0�/<����  

25�>�3��� �� ��65   
B = 20 � K = 5 

)�*��� ��+ :Hz 100  

  
  

100HA1AAN 


 �#��� ��%��� )6-�� @��%�� )���
 )���
 :��-���� �659� �6���

;���  

Bn = BK + 2M 

K = 5 0�/<���� ������� $#4 7� 
��=���  

K = 3 ��2 ������� $#4 7� 
��=��� 0�/<����  

25�>�3��� �� ��65   
B = 20 � M = 1000 � K = 5 

)�*��� ��+ :Hz 2100 = kHz 2,1  

  
  

2K10A2AAN 

� 0����� 0��9
 $���&� ����>��
 ���� :������ 0���� ������� 0�%9
�6��5 �6��� �#��� ���� ����#  

Bn = M   0�%96� ���� ��34 =Hz 2110 

M = 2110 

)�*��� ��+ :Hz 2110 = kHz 2,11  

  
  

2K11H2BFN  

$���&� 0�9��� �+��*� )���

�659� ��+�� �6��� �#��
B�*=C� ������ ������ ��(�(�

�� ����# )�*���6��� �#��� ��
 ����5�)0���� 0��3(  

Bn = 2M + 2DK 

2

B
 M =  

B = 50 

D = 35 Hz)  ��(�(Hz 70(  
K = 1,2 

 )�*��� ��+ :Hz 134  

  
  
  

134HJ2BCN  

���� ����� ����>�� ����� )���

����>�� ���� B�*=C� ������
7�(�� ��&>�� $�&��� 0����

��� ���� ����# )�*���6��� �#
 �8%=�  

Bn = F(5�� ���� �6+4  
DK +M +  

2

B
 M = 

  

150��3   
 F(5�� ���� �6+4Hz 2 805 = 

B = 100 

D = 42,5 Hz)  ��(�(Hz 85(  
K = 0,7 

)�*��� ��+ :kHz 2,885 = Hz 2 885  

  
  
  
  
  

2K89R7BCW 

2 . �%��"���)����#� ��+��(  
 G��(� ����# )�*� :�%��"�

)�30���� 0�(  
Bn = 2M  M = 3 000 

)�*��� ��+ :kHz 6 = Hz 6 000  
  

6K00A3EJN  

:���� ����# )�*� :�%��"�
 �6��5 �6��� �#��)0���� 0��3(  

Bn = M M = 3 000  
)�*��� ��+ :kHz 3 = Hz 3000 

  
3K00H3EJN 

 :���� ����# )�*� :�%��"�
 ����5� �6��� �#��)0���� 0��3( 

Bn = - M  ���4  
���$�59�6� �  

M = 3 000 

 $�59�6� ���� ���4Hz 300 = 

)�*��� ��+ :kHz 2,7 = Hz 2 700  

 

2K70J3EJN  

 �659� �6�%�� ����9H� �%��"�
 0��9�� ���& �� �5��6� �������
 )�*� :�"6�59� $�(��� �������
 �6��� �#�� :���� ����#

 �8%=�(Lincompex))  0��3
0����(  

Bn = M  �5��6� ���� ��34Hz 2 990 = 

M = 2 990 

)�*��� ��+ :kHz 2,99 = Hz 2 990 

  
  

2K99R3ELN  
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'��  �(��� )�*��� ��+  ���&�  
,���  �-����  ���&� $�/�  ,���  

.2 �%��"��� )����#� ��+�� ()����(  
 )�*� :���&�� (�"#� �%��"�
 �6��� �#�� :���� ����#

 ����5�)�/54 �4 7����3(  

Bn = - NcM ���� ���4 
���C� 0��>�� �� $�59�6�  

Nc = 2 

M = 3 000 

 $�59�6� ���� ���4 =Hz 250 

)�*��� ��+ :kHz 5,75 = Hz 5 750  

  
  
  

5K75J8EKF  

 $>�&� ����# )�*� :�%��"���
)�/54 �4 7����3(  

Bn =  I��#�M )�*� $5� 
����# 

7����3  
M = 3 000 

)�*��� ��+ :kHz 6 = Hz 6 000 

  
  

6K00B8EJN 

3 .�+�
���������   
 ����# )�*� :������� �+�
��

G��(�  
Bn = 2M 

 @����� 74 75��M 7�� 4 000 
�10 000 ��+���� J&� 

0��9���� 

�>�&����� ��5��  
M = 4 000 

)�*��� ��+ :kHz 8 = Hz 8 000  

  
  

8K00A3EGN  

 ����# )�*� :������� �+�
��
 �8%=� �6��� �#�� :����

)0���� 0��3(  

Bn = M 

 74 75�� @�����M 7�� 4 000 
�10 000 ��+���� J&� 

0��9���� 

�>�&����� ��5��  
M = 4 000 

)�*��� ��+ :kHz 4 = Hz 4 000  

  
  

4K00R3EGN 

 ����# )�*� :������� �+�
��
����5� �6��� �#�� :����  

Bn = - M $�59�6� ���� ���4 �>�&����� ��5��  
M = 4 500  

 $�59�6� ���� ���4 =Hz 50 

��� ��+)�* :kHz 4,45 = Hz 4 450  

  
  
  

4K45J3EGN 

4 .7��(%6���  
:7��(%6���  

������ 0�����  
 I�*>�� )��/� �K��ITU-R 

 ���+ $#4 7� �6��� ��

 ����9 7��(%6��� ��K�4 )�*�

$����&�� 

*�*=�� ��+ :625  
 ��&�� F����%�� )�*��� ��+=MHz 5   

0����� �6��� ��
 ��&���� ����� �6���
 MHz 5,5  

0���6� �65�� )�*��� ��+ :MHz 6,25 

 ������ )�*��� ��+FM��3�*��� L�� ��� 
�&����� :kHz 750  

 0��>�� )�*� ��+RF :MHz 7  

  
  
  
  

6M25C3F-- 

  
  

750KF3EGN  

5 . ;5�%��)�6��*��(  
 ���� $�59�� ��6/����� �6��*��
 ,�� ��+�%�� �6����� �#����
 �#���� :���� ����# )�*��

 �6�����7�6� ��2 :�8%=�  

Bn = C + 
N

2
+  DK

K = 1,1 

)��*�� ���3(  

N = 1 100 M6�� 7����6� N���� $��>� ��� 352 
 M6�� ����*&C� 7����� �+�&�60 �� 0��� 

�>�3��� . ����*&C� �*3 B��# �� 7������ $����
$�* 0��� $5 �� *�*=�� ��+ ��.  

C = 1 900 Hz 

D = 400 Hz 

)�*��� ��+ :kHz 2,89 = Hz 2 890  

  
  
  
  
  
  
  

2K89R3CMN 

O��6/����� �6��*��  
 �6��� �#��� F���� $�59�
 $59� ���&�� ����6� ��+��
 )�*� :��&����� �6����� �#����
 �6��� �#�� :���� ����#

����5�  

Bn = 2M + 2DK 

2

N
 M = 

K = 1,1 

)��*�� ���3( 

N = 1 100 

D = 400 Hz  
)�*��� ��+ :kHz 1,98 = Hz 1 980 

  
  

1K98J3C --  
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'��  �(��� )�*��� ��+  ���&�  
,���  �-����  ���&� $�/�  ,���  

6 .J5�� ,�  
 $��� :G��(� ����# )�*�

7��(%6�6� F�����  
Bn = 2C + 2M + 2D   P���� � ������� ������MHz 5 ����� :

 ������ ��+�� �6��� �#�� �6+MHz 6,5 
:������� �659�  

 ��+�%�� �6����� �#���� ���� '����� =kHz 50

C = 6,5 × 106  
D = 50  × 103 Hz 

M = 15 000 

)�*��� ��+ :  
(13,3  × 106 Hz = 13,13 MHz)  

  
  
  
  
  
  
  
  

13M1A8W --  

 ��K� :G��(� ����# )�*�
 $�&�
 ���� :F����� $���

������ ��&>��  

Bn = 2M 10*��� $-9� ����� ����3  7�� �&�&C� )�
1� kHz 164 

M = 164 000 

)�*��� ��+ :kHz 328 = Hz 328 000  

  
  
  

328KA8E --  

 ����6� G��(� ����# )�*�
VOR �%��"���� VOR) : ����

 �� ����� ��#��� F�����
����#��� Q��#(  

Bn = 2Cmax + 2M + 2DK 

K = 1 

)��*�� ���3( 

�*&��� ��&����� �6����� $59�:  
1  6��� �#�� ��
 ��+�� �Hz 30 

1   ������ ��-� 7+ �#��� �6��� �#��
Hz 9 960 ������ ��-�� ������� �659� 

Hz 30  
1  ��%��� 0��3  
1   ������ ��-�Hz 1020'���� 0�=&� 

;������ ���&��� ���"��  
Cmax  = 9 960  

M = 30 

D = 480 Hz 

)�*��� ��+ :kHz 20,94 = Hz 20 940  

  
  
  
  
  
  
  
  
  
  

20K9A9WWF 

 O�6>�&� )�*� ���+
 ����� Q� ��3�� ����3 0�+
 ��%��� ����3 0�+� B�*=R�
 $�&�
 ���� O���&�� (�"#�

������ ��&>��  

Bn =  I��#�M )�*� $5� 
����# 

 ��5�R� N�>�� ��5���� ��K�C� $-9� :0����� ��
 ����>6� �&S�>���) ������� N�/�ITU-R F.348.( 

 T=� ����3� ��%��� ����3 15 :��3�� 0��3 
�(��� )�*��� ��+ 7�5�:  
kHz 12 = Hz 12 000  

  
  
  
  

12K0B9WWF 

A-III .��	��� ����� 

1 .���3� �4 0��5� ����6�� 7�8�� 0��9
 

 B�*=C� ����� 7�� )���

)0���� 0��3(  

Bn = 2M + 2DK 

2

B
 M = 

K = 12: 
)��*�� ���3( 

B = 100 

D = Hz 85) �(�(�� �Hz 170(  
)�*��� ��+ :Hz 304  

  
  

304HF1BBN 

 )�*� ��
 0�9��� �+��*� )���

 B�*=C� ����� Q� :)�8

)0���� 0��3(  

Bn = 2M + 2DK 

2

B
 M = 

K = 12: 
)��*�� ���3( 

B = 100 

D = Hz 85)  ��(�(��Hz 170(  
)�*��� ��+ :Hz 304  

  
  

304HF1BCN 

���>��� 0����� 0��9
�  Bn = 2M + 2DK 

2

B
 M = 

K = 12: 
)��*�� ���3(  

B = 100 

D = Hz 85)  ��(�(��Hz 170(  
)�*��� ��+ :Hz 304  

  
  

304H1BCN 
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'��  �(��� )�*��� ��+  ���&�  
,���  �-����  ���&� $�/�  ,���  

1 . ���3� �4 0��5� ����6�� 7�8�� 0��9
) ����(  
 �+��� G��(� )���
��������  Bn = 2M + 2DK 

B : $�59� $���(Bd) I�&4 
0��3 .����(�� ����>�� ���5 �

:  
B

2
 M =  

)7H� �
� M = 2B( 
K = 1,1   

)��*�� ���3(  

 0���#���� �������� 7�� �+����� =Hz 40  
����(�� ����3 

B = 100  

M = 50 

D = 600 Hz 

)�*��� ��+ :kHz 1,42 = Hz 1 420  

  
  
  
  
  

1K42F7BDX  

2 . �%��"���)����#� ��+��(  
����#��� �%��"���  Bn = 2M + 2DK 

K = 1 

) ��� �� :75� ��*�� ���3
 �#�� ���� 7�5� �3 :������

 ��3 ��
K �6+4( 

����#��� �%��"�6� �*&��� ����  
D = 5 000 Hz 

M = 3 000 

)�*��� ��+ :kHz 16 = Hz 16 000  

  
  
  

16K0F3EJN  

3 .
��������� �+� 

������� �+�
��  Bn = 2M + 2DK  

K = 1 

)��*�� ���3( 

�&#� ��2  
D = 75 000 Hz 

M = 15 000 

)�*��� ��+ :kHz 180 = Hz 180 000  

  
  
  

180KF3EGN 

4 . �6��*��);5�%��( 
 ����� �9��� $�59�� �6��*

7�6� ��2 O�6����� �#����  
Bn = 2M + 2DK 

N

2
 M =  

K = 1,1 

)��*�� ���3( 

1 100 = N ����/�� �� ���+  
D = 400 Hz 

)�*��� ��+ :kHz 1,98 = Hz 1 980  

  
  

1K98F1C -- 

��6/����� �6��*��  Bn = 2M + 2DK 
N

2
 M = 

K = 1,1 

)��*�� ���3( 

1 100 = N ����/�� �� ���+  
D = 400 Hz 

)�*��� ��+ :kHz 1,98 = Hz 1 980  

  
  

1K98F3C -- 

5 . J5���� ,���) $��#�� �K��B-III(  
 ���� :F����� $��� ��K�

������ ��&>�� $�&�
  
Bn = 2fp + 2DK 

K = 1 

)��*�� ���3( 

60 7�� �&�&C� )�*��� $-9� ��%��� 0��3 
kHz 60 � kHz 300 ����%�� ���>�� O
(r.m.s)�#�� $5 '�����  :kHz 200 O

����� �����&�� �#�� ���� ��+ �6kHz 331 
 �6����� �#��6� $��� '����� ��
 F�!�

 M6�� ��&�����kHz 100O  
D = 200 × 103 × 3,76 × 2,02 

 =  1,52  × 106   Hz 

fp = 0,331 × 106   Hz 

)�*��� ��+:  
(3,702 × 106 Hz = 3,702 MHz) 

  
  
  
  
  
  
  
  
  
  

3M70F8EJF  
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'��  �(��� )�*��� ��+  ���&�  
,���  �-����  � $�/����&  ,���  

5 . J5���� ,���) ����(  
 ���� :F����� $��� ��K�

������ ��&>�� $�&�
  
Bn = 2M + 2DK

K = 1 

)��*�� ���3(

960 �&�&C� )�*��� $U-9� �U�%��� 0�U�3 
 7��kHz 60 � kHz 4 028 ����%�� ���>�� O

(r.m.s)�#�� $5 '�����  :kHz 200 O
 �6����� �����&�� �#�� ����kHz 4 715 

 �6����� �#��6� $��� '����� ��
 F�!�
 M6�� ��&�����kHz 140O  

D = 200 × 103 × 3,76 × 5,5 

    = 4,13 × 106 Hz 
M = 4,028 × 106 
fp = 4,715 × 106 
(2M + 2DK) > 2 fp 

)�*��� ��+:  
(16,32 × 106 Hz = 16,32 MHz) 

  
  
  
  
  
  
  
  
  
  
  
  
  

16M3F8EJF  

 ���� :F����� $��� ��K�
 $�&�
������ ��&>��  

Bn = 2fp600 �&�&C� )�*��� $U-9� �U�%��� 0�U�3 
 7��kHz 60� kHz 2 540 ����%�� ���>�� O

(r.m.s)�#�� $5 '�����  :kHz 200 O
 �6����� �����&�� �#�� ����kHz 8 500 

 �6����� �#��6� $��� '����� ��
 F�!�
 M6�� ��&�����kHz 140O  

D = 200 × 103 × 3,76 × 4,36 

    = 3,28 × 106 Hz 
M = 2,54 × 106 
K = 1 

fp = 8,5 × 106 
(2M + 2DK) < 2fp 

)�*��� ��+ :  
(17 × 106 Hz = 17 MHz) 

  
  
  
  
  
  
  
  
  
  
  
  
  
  

17M0F8EHF 

 Q� ��&#��� ������� �+�
��
 0�+�&� ��+�� �6��� �#��

$�&��� 0���� �%��"�6�  

Bn = 2M + 2DK

K = 1 

)��*�� ���3(

� ����� ��K�O�6��  
M = 75 000 

D = 75 000 Hz 

)�*��� ��+ :  
kHz 300 = Hz 300 000  

  
  
  
  

300KF8EHF 
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B-III  . �
��� 
��
����� ���
�� �	��� ���
�D��
	��� ��	� ��	���
 �  
 ��	��� ������ �
�	!� ����
 ��	��� ������ "�
���� ������ "�
�	!� #$

(FM-FDM)  

   ��K�R� ��&����FM-FDM5� )�*��� ��+ 7�:  
Bn = 2M + 2DK  

   ���3 J&��D M�� �� 0��
�� ���� '����� �4 :Bn �� �#�� $5 '����� ����%�� ���>�� J�8� "J�8�� $��+ "
	���4 ������ J&�����.  

   ������ �6��� �����&� �#�� ��#� ���� ��fp $�59�6� ���� ��34 )�� M������ $59�� ������ �-���� 
=<� ::  
Bn = 2fp + 2DK 
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�-����7�������� 7��-���� 7�� 7� ���3 ��54 �*�� ���� :  
Bn = 2fp     �4  Bn = 2M + 2DK  
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